

OSCILLATION PROPERTIES OF WEAKLY TIME DEPENDENT HYPERBOLIC EQUATIONS

BY
KURT KREITH

ABSTRACT. A Sturmian comparison theorem is established for a pair of linear hyperbolic differential equations. While the equations may be time dependent (in the sense of not allowing a separation of variables), a measure of the strength of such time dependence enters into the hypotheses of the theorem.

While it is possible to generalize the classical Sturm comparison theorem to hyperbolic equations [4], substantive difficulties are encountered in generalizing such results to equations having different principal parts. In [5] Travis overcomes such difficulties by restricting consideration to equations allowing a separation of variables (see also [2]). Specifically, the basic Theorem 2 of [5] deals with functions $u(x, t)$ and $v(x, t)$ which are, respectively, non-trivial solutions of

$$(1) \quad u_{tt} = \sum_{i,j=1}^n D_i(a_{ij}D_ju) - cu$$

$$(2) \quad v_{tt} = \sum_{i,j=1}^n D_i(A_{ij}D_jv) - Cv$$

in a cylindrical domain $D \subset \mathbb{R}^{n+1}$. The separation of variables follows from the assumptions that the coefficients a_{ij} , A_{ij} , c , and C are functions of $\underline{x} = (x_1, \dots, x_n)$ only and that D is a cylinder of the form $G \times (t_0, t_1)$, where G is a smooth, bounded domain in \mathbb{R}^n . Thus the problem considered in [5] is "time independent" in the sense that neither the coefficients nor the cross-sections

$$G_t = \{(\underline{x}, s) \in D : s = t\}$$

depend on t .

The purpose of this note is to show that Travis's technique can be generalized to establish Sturmian comparison theorems for time dependent problems, as long as such time dependence is sufficiently "weak", in a sense to

Received by the editors September 21, 1982.
AMS Subject Classification (1980): 35B05
© 1983 Canadian Mathematical Society

be made precise below. We shall allow the coefficients of (1) and (2) to be functions of \underline{x} and t , continuous in a cylindrical domain $D = G \times (t_0, t_1)$. We also assume that the right sides of (1) and (2) define formally selfadjoint elliptic operators

$$(3) \quad l_t[u] \equiv - \sum_{i,j=1}^n D_i(a_{ij}(\underline{x}, t)D_j u) + c(\underline{x}, t)u$$

$$(4) \quad L_t[v] \equiv - \sum_{i,j=1}^n D_i(A_{ij}(\underline{x}, t)D_j v) + C(\underline{x}, t)v$$

to which classical variational theory can be applied and that the solutions u and v of

$$(1) \quad u_{tt} + l_t[u] = 0$$

$$(2) \quad v_{tt} + L_t[v] = 0$$

satisfy boundary conditions of the form

$$(5) \quad \frac{\partial u}{\partial \nu} + \sigma(\underline{x}, t)u = 0$$

$$(6) \quad \frac{\partial v}{\partial \nu} + \tau(\underline{x}, t)v = 0$$

for $\underline{x} \in \partial G$, $t_0 < t < t_1$, where $\partial u/\partial \nu$ and $\partial v/\partial \nu$ are transverse derivatives defined by

$$\frac{\partial u}{\partial \nu} = \sum_{i,j=1}^n a_{ij} \frac{\partial u}{\partial x_i} \frac{\partial \nu}{\partial x_j}$$

$$\frac{\partial v}{\partial \nu} = \sum_{i,j=1}^n A_{ij} \frac{\partial v}{\partial x_i} \frac{\partial \nu}{\partial x_j}$$

and $\partial \nu/\partial x_i$ denotes the cosine of the angle between the exterior normal to ∂G and the positive x_i -axis. Our comparison theorem will involve the functions $\lambda_0(t)$ and $\mu_0(t)$ which are, respectively, the smallest eigenvalues of

$$(7) \quad l_t[u] = \lambda u \quad \text{in } G; \quad \frac{\partial u}{\partial \nu} + \sigma u \quad \text{on } \partial G$$

$$(8) \quad L_t[v] = \mu v \quad \text{in } G; \quad \frac{\partial v}{\partial \nu} + \tau v \quad \text{on } \partial G.$$

Denoting by $\varphi(\underline{x}, t)$ and $\psi(\underline{x}, t)$ the positive normalized eigenfunctions of l_t and L_t corresponding to the eigenvalues $\lambda_0(t)$ and $\mu_0(t)$, respectively, we introduce the functions

$$(9) \quad \alpha(t) = \sup_{\underline{x} \in G} \left| \frac{\varphi_t}{\varphi} \right| \quad \text{and} \quad \beta(t) = \sup_{\underline{x} \in G} \left| \frac{\psi_t}{\psi} \right|$$

as measures of the weakness of the time dependence of (2), (6). (Note that in case (2), (6) allows a separation of variables we have $\alpha(t) \equiv 0$ and $\beta(t) \equiv 0$ for $t_0 \leq t \leq t_1$).

For the sake of simplicity, we first consider the case where (1), (5) is time independent, so that φ is independent of t and λ_0 is constant. However, we make no such assumptions about (2), (6).

THEOREM. *Suppose $u(x, t)$ is a solution of the time independent problem (1), (5) in a cylinder $D = G \times (t_0, t_1)$ satisfying $u(x, t_0) = u(x, t_1) = 0$. If*

$$(i) \quad 0 < \sum_{i,j=1}^n a_i(\underline{x}) \xi_i \xi_j \leq \sum_{i,j=1}^n A_{ij}(\underline{x}, t) \xi_i \xi_j$$

$$(ii) \quad c(\underline{x}) + 3\alpha^2(t) + \beta(t) \leq C(\underline{x}, t)$$

for all $(\underline{x}, t) \in D$ and all non-zero n -tuples (ξ_1, \dots, ξ_n) , and if

$$(iii) \quad \sigma(\underline{x}) \leq \tau(\underline{x}, t) \leq +\infty$$

for all $(\underline{x}, t) \in \partial G \times (t_0, t_1)$, then every solution $v(\underline{x}, t)$ of (2), (6) has a zero in $G \times (t_0, t_1]$.

Proof. Defining

$$U(t) = \langle u(\underline{x}, t), \varphi(\underline{x}, t) \rangle = \int_G u(\underline{x}, t) \varphi(\underline{x}, t) d\underline{x}$$

$$V(t) = \langle v(\underline{x}, t), \psi(\underline{x}, t) \rangle = \int_G v(\underline{x}, t) \psi(\underline{x}, t) d\underline{x}$$

we have

$$\frac{dV}{dt} = \langle v_t, \psi \rangle + \langle v, \psi_t \rangle$$

and

$$\frac{d^2V}{dt^2} = \langle v_{tt}, \psi \rangle + 2\langle v_t, \psi_t \rangle + \langle v, \psi_{tt} \rangle.$$

From (9) we obtain

$$(10) \quad \left| \frac{dV}{dt} - \langle v_t, \psi \rangle \right| \leq \alpha(t) |V|$$

and

$$(11) \quad \left| \frac{d^2V}{dt^2} - \langle v_{tt}, \psi \rangle \right| \leq 2\alpha(t) |\langle v_t, \psi \rangle| + \beta(t) |V|.$$

Since (10) implies that

$$|\langle v_t, \psi \rangle| \leq \alpha |V| + \left| \frac{dV}{dt} \right|$$

we have from (11)

$$\left| \frac{d^2 V}{dt^2} - \langle v_w, \psi \rangle \right| \leq 2\alpha(t) \left| \frac{dV}{dt} \right| + (2\alpha^2(t) + \beta(t)) |V|$$

and that there exist continuous functions $F(t)$, $H(t)$ satisfying

$$|F(t)| \leq 2\alpha(t); |H(t)| \leq 2\alpha^2(t) + \beta(t)$$

for which

$$\frac{d^2 V}{dt^2} + F(t) \frac{dV}{dt} + H(t)V = \langle v_w, \psi \rangle.$$

Recalling the definition of ψ , we have

$$\langle v_w, \psi \rangle = \langle -L_t v, \psi \rangle = -\langle v, L_t \psi \rangle = -\mu_0(t)V$$

so that $V(t)$ satisfies

$$(12) \quad \frac{d^2 V}{dt^2} + F(t) \frac{dV}{dt} + (H(t) + \mu_0(t))V = 0.$$

In order to show that $v(x, t)$ has a zero in D , it is sufficient to show that $V(t)$ has a zero in $(t_0, t_1]$. To that end, we note that $U(t)$ satisfies

$$(13) \quad \frac{d^2 U}{dt^2} + \lambda_0(t)U = 0,$$

and $U(t_0) = U(t_1) = 0$. Applying a known Sturmian comparison theorem [3, Theorem 2.1] to (12) and (13), we see that

$$(14) \quad \mu_0 + H \geq \frac{F^2}{4} + \lambda_0$$

is a sufficient condition for $V(t)$ to have a zero in $(t_0, t_1]$. Clearly (14) is satisfied if $\mu_0 \geq \lambda_0 + 3\alpha^2 + \beta$. However, from classical variational theory for elliptic eigenvalue problems [1] we have

$$\begin{aligned} \lambda_0 &= \inf_{\gamma \in \Gamma} \langle l_t \gamma, \gamma \rangle = \inf_{\gamma \in \Gamma} \int_G \left[\sum_{i,j=1}^n a_{ij} D_i \gamma D_j \gamma + c \gamma^2 \right] dx \\ &\leq \int_G \left[\sum_{i,j=1}^n A_{ij} D_i \psi D_j \psi + c \psi^2 \right] dx = c - C + \mu_0(t) \end{aligned}$$

where F is the appropriate "admissible" class for the variational characterization of eigenvalues of L_t . Thus if $C - c \geq 3\alpha^2 + \beta$ it follows that (14) is satisfied, and this completes the proof.

REMARKS AND EXAMPLES. 1. In case (1), (5) is not time independent $U(t)$ satisfies a differential equation of the form

$$(13') \quad \frac{d^2 U}{dt^2} + f(t) \frac{dU}{dt} + (h(t) + \lambda_0(t))U = 0$$

where $|f|$ and $|g|$ are bounded by measures of time dependence analogous to $\alpha(t)$ and $\beta(t)$. In this case we can apply [3; Theorem 2.2] to (12) and (13'), with (14) replaced by

$$(14') \quad \mu_0 + G \geq \frac{f' - F'}{2} + \frac{F^2}{4} + \lambda_0 + h.$$

For practical purposes, however, it is most convenient to compare (2), (6) with a time independent problem (1), (5).

2. As observed in [5], the techniques of Theorem 1 also apply in the case of equations of the form

$$(m(\underline{x}, t)u_t)_t + l_t[u] = 0$$

and

$$(M(\underline{x}, t)v_t)_t + L_t[v] = 0$$

if $0 < M \leq m$ in D .

3. As an example of a time dependent problem (2), (6) for which $\alpha(t)$ and $\beta(t)$ can be estimated directly, consider

$$v_{tt} - \left(\frac{1}{1+t \cos x} v_x \right)_x + (k - t \cos x)v = 0$$

$$v(0, t) = v(\pi, t) = 0.$$

Here we may choose

$$l_t[v] = - \left(\frac{1}{1+t \cos x} v_x \right)_x - (1+t \cos x)v$$

so that

$$\psi(x, t) = k \sin(x + t \sin x)$$

for an appropriate normalizing constant k . This expression for ψ readily yields

$$\left| \frac{\psi_t}{\psi} \right| \leq \left| \frac{\sin x}{\sin(x + t \sin x)} \right| \quad \text{and} \quad \left| \frac{\psi_{tt}}{\psi} \right| \leq 1,$$

yielding the choice $\beta(t) \equiv 1$. For $0 \leq t < 1$ the argument $x + t \sin x$ is strictly increasing for $0 \leq x \leq \pi$ and we can use L'hospital's rule to evaluate

$$\lim_{x \rightarrow 0^+} \frac{\sin x}{\sin(x + t \sin x)} = \frac{1}{1+t} = \lim_{x \rightarrow \pi^-} \frac{\sin x}{\sin(x + t \sin x)}.$$

This shows that $\alpha(t)$ is bounded for $0 \leq t \leq 1$, and a specific bound can be found

by finding the relative maxima of $\frac{\sin x}{\sin(x + t \sin x)}$ for $0 \leq x \leq \pi$.

4. With examples such as the one above we are able to estimate α and β by solving the elliptic boundary value problem associated with (2), (6). It would be of interest, however, to find techniques for determining *a priori* bounds for α and β which do not require an explicit determination of $\psi(\underline{x}, t)$.

REFERENCES

1. R. Courant and D. Hilbert, *Methods of Mathematical Physics*. Vol. I, Interscience, New York, 1953.
2. C. Kahane, *Oscillation theorems for solutions of hyperbolic equations*, Proc. Amer. Math. Soc. **41** (1973), 183–188.
3. K. Kreith, *Oscillation Theory*, Springer Verlag Lecture Notes in Mathematics #324, Springer, New York, 1973.
4. K. Kreith, *Sturmian theorems for hyperbolic equations*, Proc. Amer. Math. Soc. **22** (1969), 277–281.
5. C. Travis, *Comparison and oscillation theorems for hyperbolic equations*, Utilitas Math. **6** (1974), 139–151.

UNIVERSITY OF CALIFORNIA, DAVIS